
Creative Playthings takes great care to design its products with your child’s safety in mind. 
However, only by careful supervision and explanation to your children, can you be assured 
of safe play time on any product designed for use by children. We ask you to carefully read 
the instructions before using the product. Caution: Do not allow Children to play with 
parts prior to assembly.

Hardware & Components
A	 (1)	 5/16 x 2" Lag Screw
B	 (1)	 5/16" Flat Washer
C	 (1)	 Steering Wheel
D	 (1)	 Center Cap

Installation
Step #1	 Choose a mounting position for 
the steering wheel. Avoid mounting the 
wheel in openings or in other positions where 
the wheel can be encountered by a running 
child. After locating the desired position, 
mark the center and drill a 1/8" diameter  
pilot hole approximately 1" deep.

Step #2	 Insert the 5/16 x 2" Lag Screw through the 5/16" Flat Washer and through 
the Steering Wheel as shown.

Step #3	 Hold the Steering Wheel assembly in position, insert the end of the Lag 
Screw into the pilot hole and tighten firmly using a 1/2" socket wrench. Note: It is 
very important that the Lag Screw NOT protrude through the opposite side of the 
wood.

Step #4	 After the Steering Wheel is installed, put the Center Cap into the wheel 
recess and press firmly into place.

Creative Playthings takes great care to design its products with your child’s safety in mind. 
However, only by careful supervision and explanation to your children, can you be assured 
of safe play time on any product designed for use by children. We ask you to carefully read 
the instructions before using the product. Caution: Do not allow Children to play with 
parts prior to assembly.

Hardware & Components
A	 (1)	 5/16 x 2" Lag Screw
B	 (1)	 5/16" Flat Washer
C	 (1)	 Steering Wheel
D	 (1)	 Center Cap

Installation
Step #1	 Choose a mounting position for 
the steering wheel. Avoid mounting the 
wheel in openings or in other positions where 
the wheel can be encountered by a running 
child. After locating the desired position, 
mark the center and drill a 1/8" diameter  
pilot hole approximately 1" deep.

Step #2	 Insert the 5/16 x 2" Lag Screw through the 5/16" Flat Washer and through 
the Steering Wheel as shown.

Step #3	 Hold the Steering Wheel assembly in position, insert the end of the Lag 
Screw into the pilot hole and tighten firmly using a 1/2" socket wrench. Note: It is 
very important that the Lag Screw NOT protrude through the opposite side of the 
wood.

Step #4	 After the Steering Wheel is installed, put the Center Cap into the wheel 
recess and press firmly into place.

STEERING WHEEL
SKU # AE914-412

STEERING WHEEL
SKU # AE914-412

STEERING WHEEL STEERING WHEEL

© Copyright 2001, Creative Playthings. Printed in U.S.A. © Copyright 2001, Creative Playthings. Printed in U.S.A. 

   19629-100   Rev B (02-21)    19629-100   Rev B (02-21)

DO NOT climb on the steering wheel. The wheel is inadequate to support the weight 
of a child

DO NOT climb on the steering wheel. The wheel is inadequate to support the weight 
of a child

B B

C C

D D

A A

ADULT ASSEMBLY REQUIRED. Intended for Ages 3 Years and Up. ADULT ASSEMBLY REQUIRED. Intended for Ages 3 Years and Up.

⚠CAUTION: Small Parts. Keep from children until fully assembled ⚠CAUTION: Small Parts. Keep from children until fully assembled


